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1. (1 pt) Determine whether the following matrices are in
echelon form, reduced echelon form or not in echelon form.

.10 37=3 =09
1 0 2 1 1 1
’ 0 0 1 0 8
0 0 O 1 0
e A, Echelon Form
e B. Reduced Echelon Form
e C. Not in Echelon Form
2 1 1 10
|1 0 5§ ]
e A, Echelon Form
¢ B. Reduced Echelon Form
e C. Not in Echelon Form
1 0 0 -8
3./]0 00 0
010 9
e A, Echelon Form
e B. Reduced Echelon Form
e C in Echelon Form
3 REF
e A, Echelon Form
¢ B, Reduced Echelon Form

C. Not in Echelon Form
Answer(s) submitted.:

(incorrect)

2.(1pt)LetA=

o—= 00

5
1
2
0

oSO =
oo —=,O
SO WwW

Is the matrix in echelon form? (input Yes or No)
Is the matrix in reduced echelon form? {input Yes or No)

question

e A, No solution

e B, Unique solution

¢ C. Infinitely many solutions

e D, none of the above
Answer({s)} submitted:

ft-uiowa-math2550
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{incorrect)

3. (1 pt) The reduced row-echelon forms of the augmented
matrices of four systems are given below, How many solutions
does each system have?

1 [ 1 0 ¢ 4 ]

10 0 1|-18
A. No solutions
B. Infinitely many solutions
C. Unique solution
None of the above

1| 5]

. No solutions

. Unique solution

. Infinitely many solutions
one of the above

. No

0o 1|0
1 12]0
0

0]1

. No solutions
nfinitely many solutions
Umque solution

None of the above
1

5]

A, No solutlons

B. Unique soluticn

C. Infinitely many solutions
D. None of the above

Answer(s) submirted:
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4. (1 pt) Convert the system

3x1 + 10x — 1lx3 = —4
x1 + 3x2 — 4x3 = -1
Tx1 + 24x — 24x3 = -—13

to an augmented matrix. Then reduce the system to echelon
form and determine if the system is consistent. If the system in
consistent, then find all solutions.

Augmented matrix;

Echelon form:

Is the systern consistent?
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(1 pt) Determine whether the following matnces are in echelon form, reduced echelon form

or not in echelon form.

p 4

-10 3-3-109
021 1M1

001 OB

000 10

s

A. Echelon Form
B. Reduced Echelon Form
C. Not in Echelon Form

100-10
010 6

000 0O

A. Echelon Form
B. Reduced Echelon Form
C. Not in Echelon Form

Note: You can eam ps
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You have attempted this-problem0 times-

You have 2 attempts remaining.

Email instructor
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(1 pt) Determine whether the following matrices are in echelon form, reduced echelon form

or not in echelon form.

1.

Note: You can earn partial credit on this problem.

Preview Answers Submit Answers

Your score was recorded.

You have attempted this problem 1 time.<—

You received a score ¢
Your overall recorded score is 25%.
You have 1 attempt remaining.

. or this attempt.



